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srleat & e @Ager Instructions to candidates

1. 3l Sea & SN AT A oRe gRedsT vd HTHIR Seer feaer & fow
e fAgelt @ eAeYds gl
Candidates should read carefully the instructions in the Question Booklet and OMR
Answer Sheet before start answering.

2. A9 deeA # 39 Ganr m}ﬁfmﬁ@ﬁ%ﬂasmwmﬁﬁaqﬂw%%q
AR AT g Az o A9 F e SR ufase & & ar 3k o gAR faee
%wmﬁmaﬁ%mmmwwam| You have been
called for the written test based on the data furnished by you in the on-line application.
If you have wrongly entered information in the application or you do not possess the
required qualification as per our advertisement, your candidature will be rejected.

3. mqﬁwﬁﬁﬁ%ﬁwﬁsﬁuﬁﬁ(qﬁﬁmm)ﬁ%rﬁwmaﬂaﬁl
You should sign the Call Letter (pasted with photograph) only in the presence of the
invigilator in the Examination Hall.

4. Y- 100 WeaAT aTel U TReA-GfTad §| Gl T I} el & faT ws 3rerdT
IR AT It FS IS

The question paper is in the form of Question Booklet with 100 questions. A separate
OMR sheet is provided for answering the Questions.

5. 3 3eaR A AIF WA F AT AW T R [Eds 5 F A ae
ufde et (Il AT #vel) & 6 FEET S
Use only Ball Point Pen (Black or Blue) for writing/ shading on OMR sheet and marking
your answers.

6. FUT & 3R g @ier ox fUfe fhar g3 uee qiEceh! WS s (w/dNEENE) HTAIIMT
ofic ¥ afed 3 e 3R Faer Hr ARG | VT F A R, Searqiedmr
Sirer oFEF T et
Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is

mandatory to be written on the OMR sheet in the box and bubble appropriately, failing
which the answer sheet will not be evaluated.
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7.

8.

10.

12;

12.

13

14.

15.

16.

TR Me & 39ar A 3T U Fa¢ S O fod|

Enter your Name and Roll Number correctly in the OMR answer sheet.

faf@a qlien gg & forr MufRa degar & 3N TR Fecki & @ a& g
g T @M St & dae U Seav srdfeeer w9 @ @ g

The written test will be of objective type based on the qualification prescribed for the
post with four answers indicated, of which only one will unambiguously correct.

Y Feak g R v A& F AR ITANR 3k T H el 3HTHR
aMer I 4R §U FEY Icck T a4 |

You have to select the right answer by marking the corresponding oval on the OMR
answer sheet as per the instructions given in the OMR answer sheet.

ucda T 3eak T UF 3 & eI 3eal 9¥ 0.25 3 A fohar Smeem AN 3l A
& W YFT FHE @

Correct answer carry one (1) mark each; Zero (0) for no answer and minus zero point
twenty five (-0.25) for a wrong answer. A

T off gesT & fav &g el &I el W 3cdd ITed AlAT STeam|

Multiple answers for a question will be regarded as a wrong answer.

AR Qe #F camgde el sfaRed 3NTAsR e vere el i S
Marking in OMR may be done with utmost care. No spare OMR sheet will be provided.

faf@a gdet gfer & 37aT HCUL, holdolet, ASTSel Wi 3R 3T soEclfas
FUEION, U1 el FAleH 3nfE, @y & AT STE & Srea

Computers, Calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.

ST Bl 9T URUT A UGy T &0 YT (6 i & forw fRam ST wehdr Bl
Fg WaRkea i agr & smeah|

Space available in the Question Booklet can be used for rough work, if required. No
separate sheet will be provided.

weT ¥ g 9T, (1) WIEr o9 g3 fAf@a qdier &1 gerar a7 (2) MNTARAN 3l
a9 @1 oY R Rrede Res & 3o A o AN 7 NTANR 3cal gk e
1 dfa & 3 goelehe wfay 3r9a & o S Fhd ¢

On completion of the test, (1) Hand Over Written Test Call Letters with photograph
pasted on it (2) tear the OMR answer sheet along the perforation mark at the top and

hand over the original OMR answer sheet to the invigilator and retain the duplicate
copy with you

SFFEERT # Gl & uger 6O & NI TaT gier sl A Al AL ©

Candidates are not permitted to leave the Examination Hall during the first one hour of
the examination.
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0.

60 V I T 6 kO SaTe drel H%ﬁa’smﬁ?:ga UdTg / The current flowing

through a circuit with a 60 V source and 6 kQ of resistance is

(A) 10 mA (B) 100 mA (C) I mA (D) 360 mA

0.16 mA 1 g TR 7 ufkafdd & ur ufkumd g1/ When converting 0.16 mA to

microamperes, the result is
(A) 16 pA (B) 160 pA (C) 1,600 pA (D) 0.0016 pA

Teh TR T UFRIY 2 ohms §1 5 AR &) Wi darg g1 e al ol1d ol g1 wfcie giTy
Resistance of a wire is 2 ohms. The wire is stretched to double its length then its
resistance in ohms is ‘

(A) | (B) 8 () 4 (D) 0.5

20 VIEId 200 &mﬁuﬁw@a%l 3fﬁﬂ?ﬁ%ﬂ?ﬂﬁﬁm€m?/ 20 V source is

connected across a 20 € resistor. How much energy is dissipated in three minutes?

(A) 1 Wh (B) 5 Wh (C) 10 Wh (D) 20 Wh

3 U5t uTed]  ofe '-LﬂTq\UTW Hﬂ%ﬁ%ﬂaﬁ?ﬂ”@ﬁﬂﬂﬁm/ In a three-phase system,

when the loads are perfectly balanced, the neutral current is

(A) R/ Zero

(B)  3ff¥Han WWW%@T&F/’ one third of maximum load
() HfeHan lﬂ?ﬁﬂﬁﬁfﬂ%‘/ two third of maximum load
(D) 3BT / Maximum

3 Ut Yurret , dieet fora 3 @ e g1 62/ In a three-phase system, the voltages are

separated by

(A)y  30° (B) 60° (C)  90° (D)  120°

220 vaﬁa‘mﬁ 110 VIR 3UgH Wmaaﬂﬂéﬁaﬁﬂsm di/ A 220 volt heater is

used on 110 volt supply , heat produced by will be

(A) et / One —half (B) g 1/ Twice
() ﬁﬂaﬁrﬁc / One-fourth (D) AR/ Four-times
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8. ﬁmmﬁmﬁ?ﬂxﬁmﬁmmﬁmmfw High pressure mercury vapour

lamp is having ~ colour when they are started
(A)  dId / Reddish colour (B) 8 / Green colour
(O) @l / Blue colour (D) Ui/ Yellow colour

9. HeeHieR ﬁWW%@WﬁWGﬂW7 / A multi-meter cannot be used to

measure
(A) faggduars / Current (B) 3aR1Y / Resistance
(© drecdl / potential difference (D) fdl / Power

10. 10mC ¥ 3Maf¥d & W 10 pF JeTia T RIUaidT 811§ / The potential difference across

a 10 pF capacitor to charge it with 10mC is
(A) 10V By 1kV < 1V (D) 10V

| 1. T 401 d7 el ORUTTIER 25 rev/s Teb qeaiebIferdd TIfal 1 al TeR 3 ferg amgfd &
Gﬂ'qﬁia"'ﬂ? / A 4-pole three-phase induction motor has a synchronous speed of 25 rev/s .
What will the frequency of the supply to the stator?

(A) 50 Hz (B) 100 Hz (©) 25 Hz (D) 125 Hz

12. PRI TR BT IUUNT BT 8Idl 82 / Capacitor motors arcused in
(A} WIHIUE/ ceiling fan (B) ?gﬂ'lgﬂ'ﬁﬁ:l/ washing machine
(C)  UWORHI/ air cooler (D) W & Gt/ all of the above

13. %Uﬁﬁﬁ?ﬁﬁ &1/ Pure water is electrically
(A) 3 Ydicid / Good conductor (B)  §IYdIeid / Bad conductor
(O) &fwf’ Semiconductor (D) UM / Superconductor

14. S aTg Tt UrdS e H Heq Bl 22/ The earth conductor helps to ground

(A) WWWW! leakage current (B) 3 dlecol / high voltage
() 3iftep faggd udTg / over current (D) 3 IWIET over heat

15. Eﬁﬁ%ﬂﬁsﬁmquﬁméw In which of the following electrolysis is

not used /

(A) 3@3@'@@"{/ Electroplating (B) sﬁaﬁm@;ﬁm Electrotyping
(C) A&/ Soldering (D) 3adel AR / clectro polishing




16. WWWW%” / The unit of inductance is

(A) BTt/ Henry (B)  d&¥/ Weber (C) <HAl/Tesla (D) @&/ Lux
17. Ueh oiH 901 IR HieR # | Ruftf@d sa &1 S ed 282/ na three-phase induction

motor. Which of the following statement is false?

(A) Uﬁﬂﬁmﬁwmﬂﬁ% / The slip speed is the synchronous speed
minus the rotor speed

(B) @tw%ﬂ?wﬁ@gé R sa g St 8/ As the rotor is loaded, the slip decreases

(C) AR R Als & 1y ufd W'&F@Wﬁ Qﬁ Cal Gﬂfﬁ%/ The frequency of
induced rotor e.m.f."s increases with load on the rotor

(D) AW TN Jdb 14 &7 B FIdid @1 a8 T & / The torque on the rotor is due to

the interaction of magnetic fields

18. T IURA A A M 81d 87/ A capacitor consists of two
(A) STQ%@I%@{ e fa1 A4 / insulation separated by a dielectric
(B) e 3 fpa digd / conductors separated by an insulator
() e we U4 Ueh AT 183 / ceramic plates and one mica disc
(1) Tlel 1 URd a1 A4 / silver-coated insulator

19. Teh IR HIex 1 ety fa & & u o ufRuifa fsan on aaar 8: The slip speed of an

induction motor may be defined as the:

(A) e 311t U 31t Uled - Wil / Number of pairs of poles + frequency
(13) VWS - Rigp9 Wi / Rotor speed - synchronous speed

(C) A WIE + Rispl14 &g Rotor speed + synchronous speed

(D) ey alie - Synchronous speed - rotor speed

20. AT8P &1 gAY b uw snefied :r@pr%? / The resistance of a conductor doesn’t depend on

(A)  HR/ Load (13) ?f@'l’g/ Length
(C)y  dYATT / Temperature (D) B/ Radius
31,81 Fﬂﬁﬁ?ﬁﬁ@ﬁﬁ%ﬂﬁﬂﬁﬂ%ﬂ The device which converts D.C. to A.C. is
called
(A) ?Fi_d'cr_{/ Inverter (B) W!Rectiﬁer

(C)  UfRTHRR / Amplifier (D) H=eR / Converter

(g
2

. 814l ¥ Hiex @) 5@ fa=9d1 / The main characteristics of a DC shunt motor is o
(A)  RRAR/ constant speed
(13) dgdoH Ql??&ﬂ?ﬁ'cr%/ very low starting lorque
(C) e el / high torque
(1) Eﬁ@ﬁ'ﬁfq—bﬁ/ none of these
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23.

24.

25,

26.

27.

28.

29,

mﬁ §1c¥ BT IUANT / A breather is used in transformer

(A) - FeT B & e/ for cooling (B) dd I \3‘@1}61'5/ for oil overflow
(C) ?fﬁﬁaﬂﬂ:ﬁf to supply oil (D) Q{@Wéﬁ%%ﬁ /to supply dry air
fayor Xfgewrrar o 1 Bia1 87 /Bridge rectifier consists of

(A) 23/ 2 diodes (B) 1 BAIS/ | diode

() 4 SATE /4 diodes (D) 4 TR 4 wransistors

WIFFI T &1 ITANT/ Synchronous motor are used to
(A = BT Tl UM/ obtain low starting torque

(B) Ui Traey 1 YUR/ improve power factor

(©) GETWG{T("I)T 2l UMT/ obtain high starting torque

(D) TR thaex UerHl / decrease power factor

50 kQ UfaR ﬂﬁmﬁ%ﬁ?ﬂ%’/ Resistance of 50 kQ has a conductance of:

(A 208 (B) 0028 (C) 0.02mS (D)  20kS
3YH T 82/ Micais

(A)  gdiedd/ Conductor (B)  Sfdlgd / Insulator

(©) a{shj?nwx Semiconductor (D)  UIYHIedd/ Superconductor

ey @[Wéﬁm TYR TR el HHI® g / Choose from the following as per
correct order of conductivity in decreasing order:

(A) EICAGICIN @W,Qﬁ{&lﬁm/ Silver, Copper, Gold. Aluminium

(B) EIFRIGIAGIEIN Q?{ﬁ:lﬁﬂm/ Silver, Gold, Copper. Aluminium

(C)  didl, G, 31, Q@ﬁﬁmf Copper , Gold, Silver, Aluminium

(D) Q?Imﬁuﬂ giEr. AT diet / Aluminium . Copper . Gold. Silver

3 RiEQﬁﬁHﬂ@Wﬁ@ﬂT? / An alternator doesn’t contain one of the following
(A) & 1 slip-ring (B) W!C‘ommutalor
(©) &7 TUTTe! / field system (D) TR / Armature

foAgde® T 1 T8l 82 / Which of the following is not the same as watt

(A) GL@H]?‘T@T)'FS {joule / sec (B) mﬂﬁaﬁ ampere / volt
(©) Q'ﬂiﬁm x dlee/ ampere X volt (D) TR x 3EH/ ampere’ x ohm
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31

GIECIE gﬁaﬂﬁﬁaﬁ @1 A/ With increase in temperature, the resistance of copper
(A) ‘EIEHT%/ Decreases (B) EI?.S_CIT%/ Increases
() E{quh?ﬂ 8/ becomes zero (D) gl gdl § / remains constant

32, 3olaciaifed §¢ gRI UeH DTS 8 / Electromotive force is provided by:

('S

34.

36.

38.

(A) UfaRIY / Resistance

(3) U YdIIdh UY / A conducting path

(&) Wﬁ@ﬂﬁqﬁqﬂ/ An electric current

(D) ud faggd G{Fqﬁ@ﬂ / An electrical supply source

. a9 {5y geg &1 3@t 9@ g2 / Which of the following bulbs will have the

least resistance

(A) 220 V, 60 W (B) 115V,60 W (C) 115V, 100 W (D) 220 V, 100 W

WWWWMW@W%" / The filament of electric heater is made of
(A) €T/ Copper (B) @®Ia / Carbon
(C) @8I/ Steel (D) TE%H/ Nichrome

AR & T G T shieh ¢ et ufafAfiia Sar 82/ In the colour code for resistor,

number 8§ is represented by
(A) il /Blue (B) T/ Orange  (C) U/ Grey (D) TR /Violet

750 W BT qET T 1000 W D1 [aggd ST BT 3Ry K F1 BH? / Resistance of an electric

iron ol rating 1000 watts as compared to 750 watts will be:
(A)  3fE® /More (B) &/ Less
(Cy S/ Half (D)  HH/ the same

20 QF RIY T 10 AWW@WWWWWW Power taken by a

resistance of 20 Q with a flow of [0 A current is:
(A) | kW (B) 2.5kW (C) 1.5W (D)  2kW

drecdl ETC[EUI 27/ What isVoltage drop?

(A)  fUSdH A/ Maximum potential

(3) a1 3 & o9 &TdT H 3R / Difference in potential between two points
(C) Ue Gfehe & 3fd o dieeol / Voltage at the end of a circuit

(D) dices U °id gRI Idrfda/ Voltage produced by a source

7 of 16




39. 1 kW, 250 v%aﬁéﬂﬂﬁﬁmwwﬁﬁ GWWGWWWW? / Four heaters of
rating 1 KW, 250 V each are available. How will you connect them for maximum heat?
(A) T H @ 9 /all in series
(B) WA T A/ all in parallel
(C) awﬁﬂﬁaﬁnﬁwﬁﬁ / with two parallel pairs in series
(D) Wwﬁﬁ@?ﬁ Wﬁ%@ﬂ?ﬁqﬁmﬁ / one pair in parallel with other two

in series

40.3 Wa@ﬁmmﬁgﬂmmm%‘? / In a 3 core copper conductor cable,
green colour wire is for
(A) Bl dR / phase wire (B) fAruTdt dIR / neutral Wire
(C) HWW { earthing wire (D) fafvad ar /spare wire

41, q%ﬁﬁ@nﬁmmmﬁﬁaﬁmw%vpower factor of an A.C. circuit is given
by /
(A) AR / WAETET / resistance/ impedance
(B) Ireafae wfed / 3RS wifdd / real power / apparent power
() fearale fara diee Tf@R / kW/ kVA
(D) I A g / all of these

42. saaﬁ éeaﬂ%ﬁ@mﬁwaﬂ% / The specific gravity of electrolyte is measured

by

(A) Jof e cell tester (B) AFEIHTY/ Lactometer

(C) SR /Barometer (D) © 55- Al / Hydrometer
43. %Y 3 ‘c;mtb—[ﬁ? CRIEEE] 87/ A step-up transformer increases

(A) diecs / Voltage B) faggawer/ Current

(C) i/ Power (D) GﬂTﬂ% /Frequency

44. Sﬁ?ﬂﬁaﬂﬁﬁ[ H@ﬁ‘lﬁﬂ:ﬁfﬁfﬂ%” / The frequency of DC supply is
(A) OHz (B) 060Hz (Cy 50Hz (D) 100 Hz

45. 91iofT & IR s TS dedl @1 3—&3@@—6’ 1 Fufd @ g1l 87/ During charging. the
electrolyte of a lead acid cell becomes
(A)  Holgd/ Stronger (B) FHAR/ Weaker
(C)y Ut/ Water (D) Udel/ Diluted

46. T @ 1 B et g GH BT 8 / Which wave has the least form factor?
(A) iR a1 / Square wave (B) SR AT/ Rectangular wave

(O) g adT / Sine wave (D) ]C%IW T / Triangular wave




48,

49,

50.

51

54.

. Oil is used in a power transformer for / HldX R oY 7 o T SUaT frafer gl 82

(A) lubrication /EEA (B) Cooling / I

() Resistance / 3@y (D)  No purposc/aﬂém:@'
YfereT o fareR a7 o gia 82/Silica gel breather is used in

(A)  D.C.motor /S AR (B)  D.G.set/ 8ISl H@

(C) L. T. panel / T Tt UEd (D) Transformer / EA'Q:@ R

DOL starter is used up to /81 GﬁQﬂ wIeR W%’Tﬁa’? 3UgH WGH?IT%?

(A)  UPTOSHP (B) 10 HP

(C)  ISHP (D) 25 Uadl A®ife® / above 25 HP

Overload relay is used to limit the / SRR Fadery @1 Fafia s g2
(A)  dleed / Voltage

(B)  fdggd warg/ Current

() d’rmuaﬁagﬂwaﬁﬁ / both voltage and current

() Frequency / S‘Iﬁﬁf

. Gfel FIER &1 ehiel Y TR Id g1 dl ATd1 747 3’1t / When the pointer of a Megger reads

close to zero, the resistance being measured is
(A)  SUTETTH 81/ Overheated (By ¥ / High
(C)  dH/small (D) Eﬂﬁ:ﬁf‘f/ Faulty

. dR 2 ul capacitors %@Fﬂf{ NS{EEY € | IHPe HUfiex 1 8?2 / Four 2 pF capacitors are

connected in series. The equivalent capacitance is
(A)  8puF By 05k (C) 2pF (D) o6pkF

3. Uh HIR AR WX/ A megger is usually

(A) &7 A UBR WY/ Moving iron type instrument
(13) ﬁ@@ﬁﬁawww,f Electro-static type instrument
(C)  Ble-dR YR "IY /Hot-wire type instrument

(1) Hﬁ"'[ HUH bR GIYT /Moving coil type instrument

ﬂ?ﬂﬁ@ﬁ%f Varible resistors are

(A) dRAr3S ufaie / Wire wound resistors
(13) el fther ufaRiel / Thin film resistor
(C) et foee ufaRielt / Thick film resistors
(D) JuRiad 9Ht /Al of the above
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55. Uiy GBI Gl FOTT S YHaT € / The resistance can be measured most
accurately by
(A) qleere-TreR faft / Voltmeter-ammeter method
(B)  fort fafdr / bridge method
(@) HedIHeR / multimeter

(D)  HOX/ Megger

s6. 2 dreeriieR & ue & w4t 0-400v 21 Siafees wRIETHT 30,000 3i1F 3R 20,000 3H €1 Tfe 90
?ﬂﬁ\_ﬂﬁq@@ 3R 395 600V Wﬁ?‘mmﬂ % ?ﬁﬁﬁ'ﬂ% / Two voltmeters have the same
range 0-400V. The internal impedance are 30,000 Ohms and 20.000 Ohms. If they are
connected in series and 600V be applied across them, the readings are

(A) 360V 3R 240/ 360V and 240

(B) 300V U / 300V each

(C) 400V 3fR 200V / 400V and 200V

(D) Tﬁ?{ﬁﬂwwm 3R 3= 100V /one of the meters out of the range and
other 100V

57. U SR SIS Jufert Yo fHar STar e / A Zener diode is used for

(A) dieed fafaH / Voltage Regulation (B)  JUR/ Rectification
(C)  ¥@HUYET / Noise Suppression (D) &l A.C/ Blocking A.C

58. Uh el grre g EIfgU / An ideal diode should have
(A) RIS aro auary fauda s/ g UfeRIY / Zero resistance in the forward bias
as well as reverse bias
(B) RIS ara H g vy i faueia sra # oA s HfaRiY / Zero

resistance in the forward bias and an infinitely large resistance in reverse bias
©) fuddy sy 7 oRfig earge ufaRle / Infinitely large resistance in reverse bias

(D) RIS T § orfiT oorus UfeRTY / Infinitely large resistance in forward as well
as reverse bias

59. Uch HIYRUI -9 HIeR @1 wIféT a1 81t 8 / The starting torque of a simple squirrel-
cage motor Is:
(A) 9 / Low
(B) AT B Wlﬁﬂ'\’aﬁ § / Increases as rotor current rises
(©) T B WWW@H‘T %/ Decreases as rotor current rises
(D) 3w/ High

60. TTaR TRIGTFR 3T AR TR Sl erd] ane i HTH erAmmied fEusH U S /
Power transformers are generally designed to have maximum efficiency around

(A) ®IgaAS Tl / No load (@) A AR / Half load
(©) o dre dsd / Near full load (D) 10% EGRATS / 10% overload
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ol.

62.

63.

64.

65.

e qof 1RE eRIBIR A did 1 5T 1600W B 318 &g TR dia &1 g1 B SIU / The full

load copper loss of a transformer is 1600W. At half-load the copper loss will be
(A)  6400W (B)  1600W (C)  800W (D)  400W

wﬂ?ﬁtﬁ%ﬂﬂ@@i%qwmmﬁ% / The transformer laminations are insulated
from cach other by

(A) TSI USl §RT/Mica strip

(3) aiff e & udell @ie g Thin coat of varnish

(C) DI IR Paper
() WW@ﬁAI1)ﬂ0['ll1e above

Rrafifae 7 @ v A e @ omufdf % g e diecs 781 82/ Which of the

[ollowing is not standard voltage for power supply in India?
(A)  LIkV (B)y 33kV (C)y  66kV (D) 122kV

Ut TRIBTHR 3 1000 TS o & a8 250v T Syl A ST R 1 400V fecdiae diels T
9 & o fgdiaes e g1 aigu/ A wansformer has 1000 primary turns, connected to

250V ac supply. To get 400V secondary voltage the no of secondary turns should be

(A) 1600 (B) 250 (C) 400 (D) 1250

ZH 9 T e B g yfvafda 8t 81a1 82/Which of the following does not change in a

transformer?
(A) & / Current (B) m/\/oltage
() &ﬂq‘ﬁi / Frequency (D) I THl All of the above

66. TTaR a7 U1 favan T € / Power is defined as

67.

(A) Hﬁfﬁa@ﬁmﬁww P eI H TUH / The rate at which current flows in a
circuit

(13) Hfde # s arel giees 3R UfeRly & I & FU T The product of voltage and
resistance in a circuit

(C) Wﬁﬁaaﬂefm%ﬁc_ﬁﬁﬁ?$?3qﬁ / The rate at which energy is radiated or
dissipated

Dy TS ol & 99 & TUH / The accumulation of energy over time

YuferfEd @ o 9 guiia & W TR 87 / Which of the following capacitor types

is polarized?

(A) éﬁaﬁﬂﬁﬁﬁ / Electrolytic (B) UG/ Paper
() I / Ceramic (D)  HIRHI/ Mica
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68. fagyd Bie &) IufRUY &1 Tohd B & 7T FEmTe fbu1 o aTel YUHRUI § / The device
used to indicate the presence of an electric current is
(A) ﬁﬁ\gﬁﬂ]’d}” Electrometer (B) AedHIHeR / Galvanometer
(C)  dlecHle / Voltmeter (D) Hiaex / Coulometer

69. fﬂ?@ﬂﬂ@’“ﬂﬂ'ﬂ%ﬁ/ A voltmeter should have
(A) hH 3{fdfe UfaRIe / Low internal resistance
(B) 3= 3ffafve ufariy / High internal resistance
(O) E@IH@@'W@E/ Electrostatic plates
(D) Q’Iﬁﬁ'—‘lﬂa@?ﬁw A sensitive amplifier

70. T T} faoielt 1 o8 W S dleesl TW3eh 1 9gd g Afard & &0 T &gl 91l 6 /A very
brief, high voltage spike on an ac power line is called as
(A) TH &ie¥ / A bleeder (B Udh M/ An arc
(C)y Us &Rt / A transient (D) U feATE / An avalanche

71. UH-crey i gaey | 3fcd AT HRAE / In N-type semiconductor, the minority carriers

are

(A) ﬁ@ﬁflecclrons (B) Il / Protons
(C) B’/ Holes (D) TS/ Positrons

72. 4l Ud RIS B U 4 Kohm aﬁ_ﬂﬁmfﬂ@@%ﬁﬁmﬂmz’ If four resistors are

connected in series, each with a value of 4Kohm, the total resistance is
(A) 1kQ (B)y 4k (C)y 8kQ (D) 16 kQ

73. SR AR BRI / The speed of an induction motor
(A) lﬂ?ﬁf{@$ ETUEEEﬁ%/ Decreases too much with the increase of load
(B) mﬁq@%mw@‘cﬂ%f Increase with the increase of load
(©) mﬂq@%ma @[@ﬁ?ﬂﬂ@ﬁ%/ Decreases slightly with the increase of load
(D) lﬂ?ﬁq@muw&a T@'Fﬂ%’f Remains constant with the increase of load

74, WWWW@R’[ WIET / Star- delta starter of an induction motor
(A) quﬂﬁmﬂﬂﬁ'@m %/ Inserts resistance in rotor circuit
(B) %Eréwﬁuuﬁuﬁﬁuuﬁyw%/ Inserts resistance in stator circuit
(C) ﬂaﬁwﬁﬁ?ﬁﬁamm &l Applies reduced voltage to rotor
(D) WﬂWWWW% / Applies reduced voltage to stator
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75. 1-tho1 SEa HICY P 3Rfie e gl € / The starting torque of a -phase induction
motor is
(A) 3=/ High (B)  H®EH/Medium

(©)  FE/ Low (D) A/ Zero

76. [ A, JRUT YR uﬁrwwamm% / At resonance, the RLC series circuit
behaves as a :
(A) %Wﬁﬂmiﬁ ufuy / Purely resistive circuit
(B) WW@{'&E’%W?H Purely inductive circuit
€y el ulay / Capacitive circuit
(1) ufafepae akuy / Reactive Circuit

77. LED @1 3120 § / LED stands for
(A) WWW! Light Emitting Display
(B) A el ugeH / Low Energy Display
(C) g IGid SIS / Light Emitting Diode
(D) WWW/ Light Emitting Detector
78. HEW?IQ]{HT & / The symbol represents
(A)  n-p-n TIfSReR / n-p-n Transistor
(3)y pn-p mf’ p-n-p Transistor
(C) uﬁﬂaﬁi@/ Photo Transistor
() qﬁﬁ%ﬁ'ﬁf@ﬁiﬂ/ Field Effect Transistor

79. Qﬁ'ﬂ?ﬂaﬂﬂﬁt{@?ﬁfﬁﬁﬂ, EUEIRGIGREIN waftfr & 77e1 HIF 81711/ Four stripes of resistor

are vellow, violet, red and gold will have a value of

(A) 37004 5% (B) 3700+ 10% (C) 4700 +5% (D) 4700 + 10%
80, e uRuy T e 11/ F1d BIRIT/ Find the current *I” in the given cireuit:

(A) /45 A (B) /15 A (Cy IVI0OA (D) I5A
g1, TfaRie &1 WHA 3ifiyeafdd 8 / The gencral expression for Resistance

(A)  Reul/A (B)  R=pA (C)  R=pA/l (D)  R=pl/A
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82. R1 3R R2 & UfcRieT a1 Wi o Hgad U QY 4.5 ohms &, SR TAFIR 1 ohms &, 37
GfeRIY & / Two resistance R1 and R2 give combined resistance of 4.5 ohms when in
series and 1 ohms when in parallel . The resistance are

(A) 3 ohms 3R 6 ohms / 3 ohms and 6 ohms

(B) 3 ohms 3R 9 ohms / 3 ohms and 9 ohms

(0) 1.5 ohms 3R 3 ohms /1.5 ohms and 3 ohms

(D) 1.5 ohms 3R 0.5 ohms / 1.5 ohms and 0.5 ohms.

83. uch 4T 3 9 & G a8 Aol 17 W 3P 31 b1 AR TRecavo] 1 A1 81l 5 /

The Value of specific gravity of acid when a lead acid battery is fully charged is
(Ay 1.285 (By  2.185 (C) 2.585 (D) 29585

84. 1 o & SrTER Uld UfeRY 9 gUE ot faig U ar oft & ot wmepe UfeRIY G / Five
resistance are connected as shown in figure below The equivalent resistance between the
points A and B will be

(A)  350ohm (B) 25 0hm (C) 15 ohm (D) 5ohm.
85. SF 6 18/ SF 6 gas is

(A) TP GARIGS / Sulphur Fluoride
(B) Heh ¥ STOUIRIS S / Sulphur Difluoride

(C)y Hehe %WWW%TS’ Sulphur Hexafluorine

(D) TR gRITRINTES Sulphur Hexafluoride

86. I AT AT § / Current in measured by means of

(A) gre Hex ¥ / Watt meter (B) dreeHleT ¥ / Volimeter
(C) Bl Hee ¥ / Energy meter (D) arfled I / Ammeter.
87. fareft é‘ﬁﬁaﬁﬁwwwwé / The level af illumination in a area is measured using
(A) ge #leT ¥/ Watt meter (B) qF M/ Lux meter
(C) 91 Hiex ¥ / Nano meter (D) A HeX T / Multi meter

88. wmﬁwﬁa%ﬁmm‘% / Capacitor bank in a substation is used to
(A) gl E!Eﬁ %ﬁﬂl / Increase voltage
(B) ﬁﬂgﬁ PRE T EWW & %U, / Improve power factor
(©) Wﬂ?ﬁﬁﬂ?ﬁzﬁ@%%ﬂ/ Protect the transformer
(D) qlees HH B & o8 / Decrease voltage
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89.

mﬁ aiftrepan cerar o forg fRu gt 2/ For a transformer the condition for
maximum efficiency is

(AN) %@‘{ﬁmm :QEFTW /Hysteresis loss =eddy current

(3) ﬁ'{éﬂ'{ Wﬂw / Core loss = Hysteresis loss

(C)  dEIgN = PR B / Copper loss = Core loss

(D)  PABNI=2/3 x ardi g4 /copper loss Total loss = 2/3 x copper loss

90. Y W1t URUY &1 Ul theeR gl 2/ The power factor of a purely resistive circuit is

91.

92.

94,

93,

(A)y X[/ Zero B) H ¢t/ Unity

() T Lagging (D) dif$Leading

SRR AR T YT YHIHT 8 / General voltage equation of a de motor is
(A) V = LEb + laRa (B) Eb=V +laRa

(C) V=Eb/laRa (D) V=Eb+ la2Ra

grgidt ¥ fow wddy St wier Alex B /A DC series motor is best for driving
(A) 2/ Lathes (B) =Y U4 812 H / Cranes and hoists
(C) vfid wd Ul / Shears and punches (D) mzﬂ?f'gaq / Machine tools

3.5 U 3 ol 440 dlec SR HIY I W?ﬁ@%‘&'%f Full load current of 5 HP 3 Phase

440 Volt induction motor will be

(A)  4A (By 38A (C) 20A (D) 27A
Fﬂéﬁ[@ga 100 V PILNER) &Wﬂﬂﬁ%/ The rms value of sinusoidal 100V peak is
(A) 100V, (B) S0N2V (c)y »HOV (DY 1002V

EﬁEWﬁqﬁHﬁﬂ CRECANLY 3fUTd / Load factor is defined as the ratio of
(A) IddH g/ 3gd T Max demand/ Average demand

(B) i i/ Gaifeid HR Average demand/ Connected load

(<) 3ivae |/ S dH | Average demand/ Max. demand

(1) TaIfrd HIR / ffeerdH HITT Connected load/ Max demand

06. T dlorel BT g / A BIT has

(A) A9 e SigQ / Three PN junctions
(13) a1 Arfirgacy ukd / Three semiconductor layers

() ﬂ@ﬁl’{qmﬁﬁtﬂtﬁqqﬁ / Two N type layers and two P type layers
(D) Q?ﬁ'ﬁg g dleeal / A low avalanche voltage
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9% WWW&GE Gefdl B STd An electric machine will have high efficiency when

(A)
(B)
(©)
(D)

g /33 cYC eﬂumﬁa‘% Input/output ratio is low
yfafdsar urar 318 § / Reactive power is more

KWh®Ud A9 € / KWh consumption is low
FEYAE / Losses are low

98. SER e HT LT BR EF!HT% The stator core of the induction motor is made of

(A)

(B)
(©)
(D)

AN S HRE 3B T / Laminated cast iron

TG T U / Mild steel
freftept=1 e WU / Silicon steel stampings

g &Y ¥ / Soft wood

99, Wqﬁquéﬁ'&ﬁﬂ'{%/ A circuit breaker is

(A)
(B)

(©)
(D)

WWHW%&'@H! Power factor correcting device
W%UW@WWM%@W / A device to neutralize the effect of
transients

WW@HRWWW! Awave form correcting device

Wfb_@_c' NG %HI?;?E{/ A current interrupting device

100. g1 dr2f&T ;'Hq%mz & U Lad:ferd mﬁ?ﬂq@ﬁﬂ%/ The main advantage of

auto transformer over a two winding transformer is

(A)
(B)
(©
(D)

%@WWW@W% / Hysteresis losses are reduced
mwaﬁﬁﬁ@?ﬁ%/ Saving in winding material
T‘IT@TW?%WB}IHT%/ Copper losses are negligible

TSt 1Y UheH YA B ST & / Eddy losses are totally eliminated
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78. T Wciiep G © / The symbol represents

g0, e uRgy A &¥e 1 I #RIT/ Find the current ‘I’ in the given circuit:

30 ohm 30 ohm

84, T4y 3pid & &Wuﬁqﬁﬁu@%@%aﬁﬁgwméﬁaﬁaw&rmum

/ Five resistance are connected as shown in figure below The equivalent resistance

between the points A and B will be
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